
Circles Worksheet 1 - Answer

Use the relationships C
C′ = d

d′
= r

r′
or A

A′ = d2

d′2
= r2

r′2
to solve the following problems.

Round decimal answers to the tenths place unless otherwise instructed.

1. Given C
C′ = 0.25 and r = 3.0 cm, find

r′.
r′ = 12 cm.

2. Given C
C′ = 0.5 and r′ = 4 km, find r.

r = 2 km.

3. Given d = 2.32 in and d′ = 3.47 in, find
C
C′ .
C
C′ = 0.67.

4. Given r
r′

= 4.97, find d
d′

.
d
d′

= 4.97.

5. Given d
d′

= 0.75 and C ′ = 7.77 ft, find
C.
C = 5.82 ft

6. Given A
A′ = 0.50 and d′ = 3.0 cm, find

r.
r = 1.06 cm

7. Given A′

A
= 25, find d′

d
.

d′

d
= 5.

8. Given d = 2.0 mm and d′ = 3.0 mm,
find A

A′ . Leave your answer in fractional
form.
A
A′ = 4

9
.

9. Given d2

d′2
=
√

7, find r′2

r2
. Leave your

answer in radical form.
r′2

r2
=

√
7
7

.

10. Given A
A′ = 4

5
and r2 = 80 mi, find d′.

d′ = 20 mi

c©2012 Shmoop University, Inc. All rights reserved. For classroom use only. Want to print this out for your
classroom? Go for it. All other reproduction and distribution is prohibited.

http://www.shmoop.com/calculus/
Shmoop will make you a better lover (of literature, math, life...)


